



Some properties of the (p, q) -Grötzsch ring function and (p, q) -Hübner function

QIU Songliang, DING Zhishuan, WANG Jie

(School of Science, Zhejiang Sci-Tech University, Hangzhou 310018, China)

Abstract: The authors present some properties of the (p, q) -Grötzsch ring function $\tilde{\mu}_{p,q}(r)$ and the (p, q) -Hübner function $\mathcal{M}_{p,q}(r)$ which are defined by the complete (p, q) -elliptic integrals of the first kind, by showing the monotonicity and convexity properties of certain combinations defined in terms of $\tilde{\mu}_{p,q}(r)$, $\mathcal{M}_{p,q}(r)$ and elementary functions, thus extending some well-known results for the Grötzsch ring function and the Hübner function to $\tilde{\mu}_{p,q}(r)$ and $\mathcal{M}_{p,q}(r)$.

Key words: complete (p, q) -elliptic integral; (p, q) -Grötzsch ring function; (p, q) -Hübner function; monotonicity; convexity; inequality

CLC number: O174.6

Document code: A

Article ID: 1673-3851 (2020) 11-0846-06

(p, q) -Grötzsch 环函数与 (p, q) -Hübner 函数的一些性质

裘松良, 丁志栓, 王 捷

(浙江理工大学理学院, 杭州 310018)

摘 要: 对于 $r \in (0, 1)$, 通过揭示由第一类完全 (p, q) -椭圆积分定义的 (p, q) -Grötzsch 环函数 $\tilde{\mu}_{p,q}(r)$ 和 (p, q) -Hübner 函数 $\mathcal{M}_{p,q}(r)$ 以及初等函数定义的一些组合的单调性、凹凸性, 给出了 $\tilde{\mu}_{p,q}(r)$ 与 $\mathcal{M}_{p,q}(r)$ 的一些性质, 从而将 Grötzsch 环函数和 Hübner 函数的一些已知结果推广到 $\tilde{\mu}_{p,q}(r)$ 和 $\mathcal{M}_{p,q}(r)$ 。

关键词: 完全 (p, q) -椭圆积分; (p, q) -Grötzsch 环函数; (p, q) -Hübner 函数; 单调性; 凹凸性; 不等式

1 Main Results

In the 18th century, the mathematician Euler studied the analytical properties of hypergeometric functions deeply and gave the integral expression of hypergeometric functions. At the same time, Gauss promoted the rapid development of hypergeometric functions, which aroused more and more mathematicians' interest in hypergeometric functions. For real a, b and $c (c \neq 0, -1, -2, \dots)$, the Gaussian hypergeometric function is defined by

$$F(a, b; c; x) = {}_2F_1(a, b; c; x) = \sum_{n=0}^{\infty} \frac{(a, n)(b, n)}{(c, n)n!} x^n \quad (|x| < 1),$$

where $(a, 0) = 1$ for $a \neq 0$, and $(a, n) = a(a+1)\cdots(a+n-1)$ for $n \in \mathbb{N}$ is the shifted factorial function, while \mathbb{N} is the set of positive integers (cf. [1-2]). It is well known that the hypergeometric functions have many applications in mathematics, physics and engineering, and many other special functions and even elementary functions are the particular or limiting cases of $F(a, b; c; x)$. For instance, the complete

Received date: 2020-07-01 Published Online: 2020-09-04

Fund item: This research is supported by the NSF of P. R. China (Grant No. 11771400)

Introduction to the first and corresponding author: QIU Songliang (1957-), male, Fuyang, Zhejiang, Professor; research interests: quasiconformal theory, special functions, Ramanujan's modular equations, etc.; E-mail: sl_qiu@zstu.edu.cn.

(p, q) -elliptic integrals introduced recently are particular cases of $F(a, b; c; x)$ and related to the generalized (p, q) -trigonometric functions.

For $p, q \in (1, \infty)$ and $x \in [0, 1]$, the generalized (p, q) -arcsine function is defined by

$$\arcsin_{p,q} x = \int_0^x (1-t^q)^{-1/p} dt,$$

by which the constant π can be extended to the following

$$\pi_{p,q} = 2 \arcsin_{p,q} 1 = 2 \int_0^1 (1-t^q)^{-1/p} dt = \frac{2}{q} B(1-1/p, 1/q) \quad (1)$$

where B is the beta function. The inverse of $\arcsin_{p,q} x$ on $[0, \pi_{p,q}/2]$ is called the generalized (p, q) -sine function denoted by $\sin_{p,q}$, which is an eigenfunction of the Dirichlet problem for the (p, q) -Laplacian and can be extended to a $2\pi_{p,q}$ -periodic function on \mathbb{R} (See [3-4]).

For $p, q \in (1, \infty)$ and $r \in (0, 1)$, the complete (p, q) -elliptic integrals of the first and the second kinds are defined by (cf. [5])

$$\begin{cases} \mathcal{K}_{p,q} = \mathcal{K}_{p,q}(r) = \pi_{p,q} F(1-1/p, 1/q; 1-1/p+1/q; r^q)/2, \\ \mathcal{K}'_{p,q} = \mathcal{K}'_{p,q}(r) = \mathcal{K}_{p,q}(r'), \\ \mathcal{K}_{p,q}(0) = \pi_{p,q}/2, \mathcal{K}_{p,q}(1) = \infty \end{cases} \quad (2)$$

and

$$\begin{cases} \mathcal{E}_{p,q} = \mathcal{E}_{p,q}(r) = \pi_{p,q} F(-1/p, 1/q; 1-1/p+1/q; r^q)/2, \\ \mathcal{E}'_{p,q} = \mathcal{E}'_{p,q}(r) = \mathcal{E}_{p,q}(r'), \\ \mathcal{E}_{p,q}(0) = \pi_{p,q}/2, \mathcal{E}_{p,q}(1) = 1 \end{cases} \quad (3)$$

respectively. Here and hereafter, $r' = (1-r^q)^{1/q}$ for $r \in [0, 1]$. Clearly, $\mathcal{K}_{2,2} = \mathcal{K}$ and $\mathcal{K}'_{2,2} = \mathcal{K}'$, $\mathcal{E}_{2,2} = \mathcal{E}$ and $\mathcal{E}'_{2,2} = \mathcal{E}'$ are the complete elliptic integrals of the first (second, respectively) kind.

In the sequel, we always assume that $p, q \in (1, \infty)$, and let $a = 1 - 1/p$, $b = 1/q$, $c = a + b$, $d = \frac{p-2+\sqrt{5p^2-8p+4}}{2(p-1)}$, $\beta = bR(a, b)$ and $\eta = b \left(1 - 2 \frac{ab}{c}\right) = \frac{1}{q} \left[1 - \frac{2(p-1)}{q(p-1)+p}\right]$, where $R(a, b) = -2\gamma - \psi(a) - \psi(b)$ is the Ramanujan R -function (or the Ramanujan constant), $\gamma = 0.577215 \cdots$ is the Euler-Mascheroni constant, and ψ is the classical psi function.

Let $m(r) = 2(1-r^2)\mathcal{K}(r)\mathcal{K}'(r)/\pi$ and $m_{p,q}(r) = 2r'^q \mathcal{K}_{p,q}(r)\mathcal{K}'_{p,q}(r)/\pi_{p,q}$. It is well known that the Grötzsch ring function $\mu(r) = \pi \mathcal{K}'(r)/[2 \mathcal{K}(r)]$ and the Hübner function $\mathcal{M}(r) = m(r) + \log r$ are indispensable in the studies of the theories of quasiconformal mappings and Ramanujan's modular equations (cf. [2, 6-11]). We now extend $\mu(r)$ and $\mathcal{M}(r)$ to the following

$$\tilde{\mu}_{p,q}(r) = \frac{\pi_{p,q}}{2} \frac{\mathcal{K}'_{p,q}(r)}{\mathcal{K}_{p,q}(r)}, \mathcal{M}_{p,q}(r) = m_{p,q}(r) + \log r \quad (4)$$

For $r \in (0, 1)$, and call them the (p, q) -Grötzsch ring function and the (p, q) -Hübner function, respectively. These functions can play a role in the study of a kind of modular equations.

It is natural to ask whether the known results for $\mu(r)$ and $\mathcal{M}(r)$ can be extended to $\tilde{\mu}_{p,q}(r)$ and $\mathcal{M}_{p,q}(r)$. This is a problem worth studying. Motivated by this, the purpose of this paper is to study the properties of the functions $\tilde{\mu}_{p,q}(r)$ and $\mathcal{M}_{p,q}(r)$, and extend several well-known results for $\mu(r)$ and $\mathcal{M}(r)$ to $\tilde{\mu}_{p,q}(r)$ and $\mathcal{M}_{p,q}(r)$, by showing the monotonicity and convexity properties of certain combinations defined in terms of $\tilde{\mu}_{p,q}(r)$, $\mathcal{M}_{p,q}(r)$ and elementary functions. We now state some of our main results.

Theorem 1 a) The function $\mathcal{M}_{p,q}$ is strictly decreasing from $(0, 1)$ onto $(0, \beta)$. Moreover, if $q \geq d$, then $\mathcal{M}_{p,q}$ is concave on $(0, 1)$.

b) The function $f_1(r) \equiv m_{p,q}(r)/\log(1/r)$ is strictly increasing from $(0, 1)$ onto $(1, \infty)$.

c) For each $t \in (0, 1)$, the function $f_2(r) \equiv m_{p,q}(rt) - m_{p,q}(r)$ is strictly increasing from $(0, 1)$ onto $(-\log t, m_{p,q}(t))$. In particular, for all $r, t \in (0, 1)$,

$$\max\{m_{p,q}(r) - \log t, m_{p,q}(t) - \log r\} < m_{p,q}(rt) < m_{p,q}(r) + m_{p,q}(t) \quad (5)$$

$$\max\{\mathcal{M}_{p,q}(r), \mathcal{M}_{p,q}(t)\} < \mathcal{M}_{p,q}(rt) < \mathcal{M}_{p,q}(r) + \mathcal{M}_{p,q}(t) \quad (6)$$

d) For each $\alpha \in (0, \infty)$, the function $f_3(r) \equiv \alpha m_{p,q}(r) - m_{p,q}(r^\alpha)$ is strictly increasing (decreasing) from $(0, 1)$ onto $((\alpha-1)\beta, 0)$ $((0, (\alpha-1)\beta))$ if and only if $0 < \alpha < 1$ ($\alpha > 1$, respectively). Moreover, if $\alpha \in (0, 1)$, then for $r \in (0, 1)$,

$$\alpha m_{p,q}(r) < m_{p,q}(r^\alpha) < \alpha m_{p,q}(r) + \beta(1 - \alpha) \quad (7)$$

and if $\alpha \in (1, \infty)$, then each inequality in (7) is reversed.

Theorem 2 a) The function $g_1(r) \equiv \tilde{\mu}_{p,q}(r) + \log r$ is strictly decreasing and concave from $(0, 1)$ onto $(0, \beta)$, and $g_2(r) \equiv g_1(r)/r'^q$ is strictly increasing from $(0, 1)$ onto (β, ∞) .

b) $g_3(r) \equiv \tilde{\mu}_{p,q}(1/r)/\log r$ is strictly decreasing and convex from $(1, \infty)$ onto itself.

c) $g_4(r) \equiv g_1(r) - \log r'$ is strictly increasing and convex from $(0, 1)$ onto (β, ∞) .

d) $g_5(r) \equiv \tilde{\mu}_{p,q}(r) \log(1/r')$ is strictly increasing from $(0, 1)$ onto $(0, \pi_{p,q}^2/4)$.

e) $g_6(r) = [\beta - g_1(r)]/r^q$ is strictly increasing from $(0, 1)$ onto (η, β) . In particular,

$$\beta r'^q < \tilde{\mu}_{p,q}(r) + \log r < \beta r'^q + (\beta - \eta)r^q, r \in (0, 1) \quad (8)$$

Theorem 3 For each $t \in (0, 1)$, define the functions h_1, h_2 and h_3 on $(0, 1)$ by $h_1(r) = \tilde{\mu}_{p,q}(rt) - \tilde{\mu}_{p,q}(r)$, $h_2(r) = \tilde{\mu}_{p,q}(rt)/\tilde{\mu}_{p,q}(r)$ and $h_3(r) = 2\tilde{\mu}_{p,q}(\sqrt{rt}) - \tilde{\mu}_{p,q}(r)$.

a) The functions h_1 and h_2 are both strictly increasing on $(0, 1)$, with ranges $(-\log t, \tilde{\mu}_{p,q}(t))$ and $(1, \infty)$, respectively. In particular, for all $r, t \in (0, 1)$,

$$\tilde{\mu}_{p,q}(r) + \log(1/t) < \tilde{\mu}_{p,q}(rt) < \tilde{\mu}_{p,q}(r) + \tilde{\mu}_{p,q}(t) \quad (9)$$

b) The function h_3 is strictly decreasing from $(0, t]$ onto $[\tilde{\mu}_{p,q}(t), \beta - \log t]$, and increasing from $[t, 1)$ onto $[\tilde{\mu}_{p,q}(t), 2\tilde{\mu}_{p,q}(\sqrt{t})]$. In particular, for all $r, t \in (0, 1)$,

$$\tilde{\mu}_{p,q}(r) + \tilde{\mu}_{p,q}(t) \leq 2\tilde{\mu}_{p,q}(\sqrt{rt}) < \tilde{\mu}_{p,q}(r) + \max\{\beta - \log t, 2\tilde{\mu}_{p,q}(\sqrt{t})\} \quad (10)$$

with equality if and only if $r = t$.

2 Preliminaries

First, let us recall the following generalized Legendre relation and derivative formulas^[5]

$$\mathcal{K}'_{p,q} \mathcal{E}_{p,q} + \mathcal{K}_{p,q} \mathcal{E}'_{p,q} - \mathcal{K}_{p,q} \mathcal{K}'_{p,q} = \frac{\pi_{p,q}}{2} \quad (11)$$

$$\frac{d\mathcal{K}_{p,q}}{dr} = \frac{\mathcal{E}_{p,q} - r'^q \mathcal{K}_{p,q}}{rr'^q}, \frac{d\mathcal{K}'_{p,q}}{dr} = -\frac{\mathcal{E}'_{p,q} - r^q \mathcal{K}'_{p,q}}{rr'^q} \quad (12)$$

$$\frac{d\mathcal{E}_{p,q}}{dr} = -q \frac{\mathcal{K}_{p,q} - \mathcal{E}_{p,q}}{pr}, \frac{d\mathcal{E}'_{p,q}}{dr} = qr^{q-1} \frac{\mathcal{K}'_{p,q} - \mathcal{E}'_{p,q}}{pr'^q} \quad (13)$$

and the well-known asymptotic formula

$$\mathcal{K}_{p,q}(r) = \log \frac{e^\beta}{r'} + O((1 - r^q) \log(1 - r^q)) \quad (14)$$

as $r \rightarrow 1$. Applying (11)–(13), one can easily prove the following lemma.

Lemma 1 For $r \in (0, 1)$,

$$\frac{d\tilde{\mu}_{p,q}(r)}{dr} = -\frac{\pi_{p,q}^2}{4rr'^q \mathcal{K}_{p,q}^2} = -\frac{1}{rr'^q F(a, b; c; r^q)^2} \quad (15)$$

$$\begin{aligned} \frac{dm_{p,q}(r)}{dr} &= \frac{1}{\pi_{p,q}r} [\pi_{p,q} - 4\mathcal{K}_{p,q} \mathcal{E}'_{p,q} - 2(q-2)r^q \mathcal{K}_{p,q} \mathcal{K}'_{p,q}] \\ &= -\frac{1}{r} - \frac{2}{\pi_{p,q}} r^{q-1} \mathcal{K}_{p,q} \mathcal{K}'_{p,q} \left(q - 2 \frac{\mathcal{E}_{p,q} - r'^q \mathcal{K}_{p,q}}{r^q \mathcal{K}_{p,q}} \right) \end{aligned} \quad (16)$$

Next, we present several properties of $\mathcal{K}_{p,q}$ and $\mathcal{E}_{p,q}$, which are the analogues of the related properties of \mathcal{K} and \mathcal{E} (cf. [8, Lemma 5.2(8), (14) & 5.4(3)–(4)]) for $\mathcal{K}_{p,q}$ and $\mathcal{E}_{p,q}$.

Lemma 2 Let $\delta = a\pi_{p,q}/(2c)$ and $\rho = \pi_{p,q}^2(1-2ab/c)/4$.

a) $H_1(r) \equiv (\mathcal{K}_{p,q} - \pi_{p,q}/2)/\log(1/r')$ is strictly increasing from $(0, 1)$ onto $(\delta, 1)$.

b) $H_2(r) \equiv (\pi_{p,q}^2/4 - r'^q \mathcal{K}_{p,q}^2)/r^q$ is strictly increasing from $(0, 1)$ onto $(\rho, \pi_{p,q}^2/4)$.

c) Let $H_3(r) = (2/q)\mathcal{E}_{p,q} + (1-2/q)r'^q \mathcal{K}_{p,q}$. Then H_3 is strictly increasing from $(0, 1)$ onto $(\pi_{p,q}/2, 2b)$ if and only if $1 < q \leq 2(1-1/p)$, and H_3 is strictly decreasing from $(0, 1)$ onto $(2b, \pi_{p,q}/2)$ if and only if $q \in S_q \equiv [2, \infty) \cup \{q \mid q \in (1, 2), q \geq 2-1/(p-1)\}$. Moreover, if $q \in (1, 2]$ with $q \geq 2-1/(p-1)$, then H_3 is concave on $(0, 1)$.

d) If $1 < q \leq 2(1-1/p)$ ($q \in S_q$), then $H_4(r) \equiv r^{q/2} \mathcal{K}_{p,q}/\operatorname{arth} r^{q/2}$ is strictly increasing (decreasing) from $(0, 1)$ onto $(\pi_{p,q}/2, 2b)$ ($(2b, \pi_{p,q}/2)$, respectively).

Proof a) Let $H_5(r) = \mathcal{K}_{p,q} - \pi_{p,q}/2$ and $H_6(r) = \log(1/r')$ for $r \in (0, 1)$. Then $H_5(0) = H_6(0) = 0$, $H_1(r) = H_5(r)/H_6(r)$, and by (12),

$$H'_5(r)/H'_6(r) = (\mathcal{E}_{p,q} - r'^q \mathcal{K}_{p,q})/r^q,$$

which is strictly increasing on $(0, 1)$ by [6, Theorem 1(a)]. Hence the monotonicity of H_1 follows from [2, Theorem 1.25]. By l'Hôpital's rule, we obtain the values $H_1(0^+) = \delta$ and $H_1(1^-) = 1$.

b) Let $H_7(r) = \pi_{p,q}^2/4 - r'^q \mathcal{K}_{p,q}^2$, $H_8(r) = r^q$, $H_9(r) = (\mathcal{E}_{p,q} - r'^q \mathcal{K}_{p,q})/(r^q \mathcal{K}_{p,q})$ and $H_{10}(r) = 1 - 2bH_9(r)$. Then $H_7(0) = H_8(0) = 0$, $H_2(r) = H_7(r)/H_8(r)$ and

$$H'_7(r)/H'_8(r) = \mathcal{K}_{p,q}^2 H_{10}(r) \quad (17)$$

By [6, Theorem 1(c)], H_9 is strictly decreasing from $(0, 1)$ onto $(0, a/c)$, so that H_{10} is strictly increasing from $(0, 1)$ onto $(1-2ab/c, 1)$. It is easy to verify that $2ab/c < 1$. Hence it follows from (17) and [2, Theorem 1.25] that H_2 is strictly increasing on $(0, 1)$. By l'Hôpital's rule and (17), $H_2(0^+) = \rho$. Clearly, $H_2(1^-) = \pi_{p,q}^2/4$.

c) The limiting values of H_3 are clear. Set $H_{11}(r) = H_{14}(r)/r$, $H_{12}(r) = r^q \mathcal{K}_{p,q}/H_{14}(r)$ and $H_{13}(r) = 2/p + (1-2/q)[1 + (q-1)H_{12}(r)]$, where $H_{14}(r) = \mathcal{K}_{p,q} - \mathcal{E}_{p,q}$. Then $H_{11}(H_{12})$ is strictly increasing (decreasing) from $(0, 1)$ onto $(0, \infty)$ ($(1, c/b)$, respectively) by [6, Theorem 1(d)], $H_{13}(0^+) = q[q(p-1)-2p+3]/p$, and $H_{13}(1^-) = q-2(1-1/p)$. By (12)–(13), we have

$$H'_3(r) = -H_{11}(r)H_{13}(r) \quad (18)$$

$$H_{13}(0^+) \leq 0 \Leftrightarrow q \leq 2-1/(p-1) \quad (19)$$

$$H_{13}(0^+) \geq 0 \Leftrightarrow q \geq 2-1/(p-1) \quad (20)$$

$$H_{13}(1^-) \geq 0 \Leftrightarrow q \geq 2(1-1/p) \quad (21)$$

$$H_{13}(1^-) \leq 0 \Leftrightarrow q \leq 2(1-1/p) \quad (22)$$

If $q \geq 2$, then $H_{13}(r) > 0$ for $r \in (0, 1)$ so that H_3 is strictly decreasing on $(0, 1)$ by (18).

If $q \in (1, 2)$, then H_{13} is strictly increasing on $(0, 1)$, and hence by (18)–(22), $H'_3(r) > 0$ ($H'_3(r) < 0$) for $r \in (0, 1)$ if and only if $H_{13}(1^-) \leq 0$ ($H_{13}(0^+) \geq 0$), namely, $q \leq 2(1-1/p)$ ($q \geq 2-1/(p-1)$, respectively). Hence the result for H_3 follows.

d) Let $H_{15}(r) = r^{q/2} \mathcal{K}_{p,q}$ and $H_{16}(r) = \operatorname{arth} r^{q/2}$. Then $H_{15}(0) = H_{16}(0) = 0$, $H_4(r) = H_{15}(r)/H_{16}(r)$, and $H'_{15}(r)/H'_{16}(r) = H_3(r)$. Hence the assertion on the monotonicity properties of H_4 follows from part c). Clearly, $H_4(0^+) = \pi_{p,q}/2$ and $H_4(1^-) = H_3(1^-) = 2b$. \square

3 Proof of Main Results

3.1 Proof of Theorem 1

a) Clearly, $\mathcal{M}_{p,q}(1^-) = 0$. Applying (14), we obtain the value $\mathcal{K}_{p,q}(0^+) = \beta$. Let H_{10} be as in the proof

of Lemma 2(b). Then by (16),

$$-\pi_{p,q} \mathcal{M}'_{p,q}(r) = f_4(r) \equiv 2q(r^{q-1} \mathcal{K}'_{p,q}) \cdot \mathcal{K}_{p,q} \cdot H_{10}(r),$$

which is positive for $r \in (0, 1)$. Hence the monotonicity of $\mathcal{M}_{p,q}$ follows.

Clearly, $q-1 \geq a/c$ if and only if $q \geq d$. Hence by [6, Theorem 2(a)], if $q \geq d$, then the function $r \mapsto r^{q-1} \mathcal{K}'_{p,q}(r)$ is strictly increasing from $(0, 1)$ onto $(0, \pi_{p,q}/2)$, so that f_4 is a product of three positive and strictly increasing functions. This yields the concavity of $\mathcal{M}_{p,q}$.

b) Let $f_5(r) = m_{p,q}(r)$, $f_6(r) = \log(1/r)$ and $f_7(r) = r^q \mathcal{K}'_{p,q} \mathcal{K}_{p,q} H_{10}(r)$. Then f_7 is strictly increasing on $(0, 1)$ by [6, theorem 2(a)], $f_1(r) = f_5(r)/f_6(r)$, $f_5(1) = f_6(1) = 0$ and

$$f'_5(r)/f'_6(r) = f_8(r) \equiv -rm'_{p,q}(r) = 1 + 2qf_7(r)/\pi_{p,q},$$

which is strictly increasing on $(0, 1)$ and hence so is f_1 by [2, Theorem 1.25]. Applying l'Hôpital's rule, we obtain the limiting values of f_1 .

c) Clearly, $f_2(1^-) = m_{p,q}(t)$ and $f_2(0^+) = -\log t$. Let $x = rt$. Then $0 < x < r$, and

$$rf'_2(r) = r[tm'_{p,q}(x) - m'_{p,q}(r)] = f_8(r) - f_8(x).$$

Hence the result for f_2 follows from that of f_8 . The double inequalities (5) and (6) are clear.

d) Clearly, $f_3(1^-) = 0$. By part a), $f_3(0^+) = \beta(\alpha - 1)$. Put $y = r^a$. Then by differentiation,

$$rf'_3(r) = a[rm'_{p,q}(r) - ym'_{p,q}(y)] = a[f_8(y) - f_8(r)].$$

Hence by the monotonicity of f_8 , $f'_3(r) > 0$ ($f'_3(r) < 0$) if and only if $y > r$ ($y < r$, respectively). This yields the monotonicity properties of f_3 . The remaining conclusions are clear. \square

3.2 Proof of Theorem 2

a) Clearly, $g_1(1^-) = 0$. By (14), one can obtain the limiting value $g_1(0^+) = \beta$. Let H_2 be as in Lemma 2. Then by differentiation and (15)

$$-g'_1(r) = r^{q-1} \cdot H_2(r) \cdot (r'^q \mathcal{K}_{p,q}^2)^{-1} \quad (23)$$

which is a product of three positive and strictly increasing on $(0, 1)$ by Lemma 2(b) and [6, Theorem 2(a)]. Hence the monotonicity and concavity properties of g_1 follow.

Clearly, $g_2(0^+) = g_1(0^+) = \beta$. By l'Hôpital's rule, we obtain the value $g_2(1^-) = \infty$. By (23),

$$g'_1(r) [d(r'^q)/dr]^{-1} = bH_2(r) \cdot (r'^q \mathcal{K}_{p,q}^2)^{-1},$$

which is a product of two positive and strictly increasing on $(0, 1)$ by [6, Theorem 2(a)]. Hence the result for g_2 follows from [2, Theorem 1.25].

b) Applying l'Hôpital's rule and (14), one can obtain the limiting values of g_3 .

It is easy to see that the function $x \mapsto x/\log(1/x)$ is strictly increasing on $(0, 1)$. Let f_1 be as in Theorem 1, $x = 1/r$, and $g_7(x) = \tilde{\mu}_{p,q}(x)/\log(1/x)$. Then $g_3(r) = g_7(x)$, and by (15),

$$-g'_3(r) = -g'_7(x) \frac{dx}{dr} = \frac{x}{\log(1/x)} \cdot \frac{\pi_{p,q}^2}{4x'^q \mathcal{K}_{p,q}^2(x)^2} \cdot [f_1(x) - 1],$$

which is a product of three positive and strictly increasing functions of $x \in (0, 1)$ by [6, Theorem 2(a)] and Theorem 1 b). Hence the result for g_3 follows.

c) The limiting values of g_4 follow from part a). It is easy to verify that the function $r \mapsto [\log(1/r')]/r$ is strictly increasing from $(0, 1)$ onto $(0, \infty)$. Let H_1 be as in Lemma 2. Then by differentiation and (15),

$$g'_4(r) = \frac{\mathcal{K}_{p,q} + \pi_{p,q}/2}{r'^q \mathcal{K}_{p,q}^2} \cdot \frac{\log(1/r')}{r} \cdot H_1(r),$$

which is a product of three positive and strictly increasing functions on $(0, 1)$ by Lemma 2 and [6, Theorem 2(a)]. Hence the result for g_4 follows.

d) Let $g_8(r) = \log(1/r')$ and $g_9(r) = 1/\tilde{\mu}_{p,q}(r)$. Then $g_5(r) = g_8(r)/g_9(r)$, $g_8(0) = g_9(0) = 0$ and $g'_8(r)/g'_9(r) = r^q \mathcal{K}_{p,q}'^2$, which is strictly increasing on $(0, 1)$ by [6, Theorem 2(a)] and hence so is g_5 by [2, Theorem 1.25]. By l'Hôpital's rule, we obtain the limiting values of g_5 .

e) Clearly, $g_6(1^-) = \beta$. By l'Hôpital's rule, we obtain $g_6(0^+) = \eta$. Let H_2 be as in Lemma 2, $g_{10}(r) = \beta - g_1(r)$ and $g_{11}(r) = r^q$. Then $g_6(r) = g_{10}(r)/g_{11}(r)$, $g_{10}(0^+) = g_{11}(0) = 0$ and

$$\frac{g'_{10}(r)}{g'_{11}(r)} = b \frac{H_2(r)}{r'^q \kappa_{p,q}^2},$$

which is strictly increasing on $(0, 1)$ by [6, Theorem 2(a)] and Lemma 2(b). Hence the result for g_6 follows from [2, Theorem 1.25]. The double inequality (8) is clear. \square

3.3 Proof of Theorem 3

a) Clearly, $h_1(1^-) = \tilde{\mu}_{p,q}(t)$. By Theorem 2(a), $h_1(0^+) = -\log t$.

Let $x = rt$ and $h_4(r) = 1/(r'^q \kappa_{p,q}^2)$. Then $0 < x < r < 1$, and by differentiation,

$$4rh'_1(r) = \pi_{p,q}^2 [h_4(r) - h_4(x)],$$

which is positive by [6, Theorem 2(a)]. This yields the result for h_1 . The double inequality (9) is clear.

It is clear that $h_2(1^-) = \infty$ and $h_2(0^+) = 1$. Let $h_5(r) = 1/(r'^q \kappa_{p,q} \kappa'_{p,q})$. Then by (15),

$$2rh'_2(r) = \pi_{p,q} h_2(r) [h_5(r) - h_5(x)],$$

which is positive by [6, Theorem 2(a)]. Hence the result of h_2 follows.

b) It is clear that $h_3(t) = \tilde{\mu}_{p,q}(t)$, $h_3(1^-) = 2\tilde{\mu}_{p,q}(\sqrt{t})$ and $h_3(0^+) = \beta - \log t$. Put $y = \sqrt{rt}$. Then $y > r$ ($y < r$) if and only if $r \in (0, t)$ ($r \in (t, 1)$, respectively). By differentiation and (15),

$$4rh'_3(r) = \pi_{p,q}^2 [h_4(r) - h_4(y)].$$

Hence by [6, Theorem 2(a)], $h'_3(r) < 0$ ($h'_3(r) > 0$) if and only if $y > r$ ($y < r$, respectively). This yields the result for h_3 . The double inequality (10) and its equality case are clear. \square

References:

- [1] Abramowitz M, Stegun I A. Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables[M]. New York: Dover, 1966: 556-607.
- [2] Anderson G D, Vamanamurthy M K, Vuorinen M. Conformal Invariants, Inequalities, and Quasiconformal Maps[M]. New York: John Wiley & Sons, 1997: 3-31.
- [3] Takeuchi S. Legendre-type relations for generalized complete elliptic integrals[J]. Journal of Classical Analysis, 2016, 9(1): 35-42.
- [4] Edmunds D E, Gurka P, Lang J. Properties of generalized trigonometric functions[J]. Journal of Approximation Theory, 2012, 164(1): 47-56.
- [5] Kamiya T, Takeuchi S. Complete (p, q) -elliptic integrals with application to a family of means[J]. Journal of Classical Analysis, 2017, 10(1): 15-25.
- [6] Jiao R B, Qiu S L, Ge G T. Monotonicity and convexity properties of the generalized (p, q) -elliptic integrals[J]. Journal of Zhejiang Sci-Tech University, 2018, 39(6): 765-769.
- [7] 焦仁兵. 两类广义椭圆积分的若干性质[D]. 杭州: 浙江理工大学, 2018: 9-27.
- [8] Ahlfors L V. Lectures on Quasiconformal Mappings[M]. 2nd ed. New York: University Lecture Series Vol 38 American Mathematical Society, Providence, R I, 2006: 1-83.
- [9] Anderson G D, Qiu S L, Vamanamurthy M K, et al. Generalized elliptic integrals and modular equations[J]. Pacific Journal of Mathematics, 2000, 192(1): 1-37.
- [10] Berndt B C, Bhargava S, Garvan F G. Ramanujan's theories of elliptic functions to alternative bases[J]. Transactions of the American Mathematical Society, 1995, 347: 4163-4244.
- [11] Qiu S L, Vuorinen M. Infinite products and normalized quotients of hypergeometric functions[J]. SIAM Journal on Mathematical Analysis, 1999, 30(5): 1057-1075.

(责任编辑:康 锋)